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1 EER - MR 1,100 1,210M
#E B 8[a] 7 IR £% 1HREMHE - EESE 1,100M 1,210
£8210E] ~55217[g] 2fhmEEER 1,000M 1,100MH
2T EER 1,000M 1,100MH
SEEER 900H 990M
HIEERLSET 900H 990
14k 1,600 1,760M
ATEER 16317 IR & 2k 1,400 1,540
£5108[E] ~ 55 123[0] 3k 1,400 1,540
FrigfiE 5[a] 73 4R £% 14k 3,000 3,300
X7 A HEHTE E10E-H112E~H113E 14 | 24k 2,000|  2,200H
FE115E~%116[ 1 | 3%k 1,700 1,870
F111E-F113E ~5F 1140 2-3#
F116[E~5117[E 2-3#k
ENFRE 5[E] 73U £ 14k 3,000 3,300
%7 AT E E10E-F112E~E113E 14 | 2Rk 2,000MH|  2,200H
E115E~ %116 1% | 3%k 1,700 1,870
F111E-E113E ~FE114[E 2-3#%
F116[E~5117[E] 2-3#k
HEME 5[a] 73 IR £% 14k 3,000 3,300M
%7 AT E E110E-H112E~E113E 14 | 24k 2,000MH|  2,200H
E115E~5E116[E 1% 3k 1,700 1,870
F111E-E 1130 ~FE 114 2-3#%
F116[E~5117[E] 2-3#k
HEANEH~— 9[a] 43 IR £% 1% 1,600 1,760
% 44[0]- F 460 - FE 48[ 2k 1,300 1,430H
50[@ - E52[E] - 545 3%k 1,200 1,320M
56[] - 5580 - £ 60[5]
—01§k 1,700M 1,870
XEWE 9[a] 7 YRk D—Ja2#k 1,400 1,540
5102E ~ 55 110[H] D—7O3#k 1,300 1,430
D—J044k 1,100 1,210M
RETE 1K 1,700 1,870M
FRETE 2% 1,400 1,540M
FRETE3K 1,300 1,430
FRETEARR 1,100 1,210
333 1,000 1,100
BEAH 158 AR 6% 18k S00F3}  990F]
$157E ~5171[9] 2k 900 990M
3%k 800 880M
MIZEE(TRIFETT, 4%k 800 880M
AERYTEFHUA. BFHYHAIS Bi CEE 400M 4400
HELTLES, 1% =EE 350M 385M
EEZF16EDTY  BEMBEETIE 2 EEE 350 385M
HEEREETT, 3k =EE 300 330M
14k 1,600 1,760
avEa—44Et 8[ml 77U £% 2k 1,600 1,760
542[E] ~ 5549 3%k 1,600 1,760M
KOFIBIZH-YHRESHDOY I RETT, iR 1,300 1,430

XKATEHRE-ZABE- HEBRZORTIRMET7TATY,

At FEAEEREBELETHE




